N do/dD_3Purham
H
<

91 GeV ee y*/Z (Hadronic)
| T I T I T I I | I I T I T I T | ﬂ
_ =5
= Three-jet fraction (dekp-Durham) = %
- 12
—— __m
— 3N
= =)
- ks
™
= EE
— 5=
~ e

DELPHI

--3-- Herwig 7.2.0 default
—a4— Pythia 8.301 default
----- ¢ Sherpa 2.1.0 default

-3
10
2
T
ol
-
a
o 1
9
IS
o

0.5

mcplots.cern.ch [arXiv:1306.3436]

é_ --¥-- Vincia 2.3.01_8.243 default _§

5 | | | | | | | | : | E

| ' ' ' ' | ' ' ' ' I

- ER
B -—--B_?E%f‘E"ET e 1q
| —0.5

| L L L L I L L L . L |
0 0.05 0.1

D_3Durham



	Contents
	Page 1


